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QUESTION 1

When you configure a private VLAN, which type of port must you configure the gateway router port as? 

A. promiscuous port 

B. isolated port 

C. community port 

D. access port 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. 

DSW1 should share the same MST region with switch DSW2. Which statement is true? 

A. Configure DSW1 with the same version number, and VLAN-to-instance mapping as shown on DSW2. 

B. DSW2 uses the VTP server mode to automatically propagate the MST configuration to DSW1. 
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C. DSW1 automatically inherits MST configuration from DSW2 because they have the same domain name. 

D. Configure DSW1 with the same region name, revision number, and VLAN-to-instance mapping as shown on DSW2. 

E. DSW1 is in VTP client mode with a lower configuration revision number, therefore, it automatically inherits MST
configuration from DW2. 

Correct Answer: D 

 

 

QUESTION 3

Refer to the exhibit. 

A network engineer changes the default native VLAN to VLAN 999. After applying the settings on the uplinks to the core
switches, the switch control traffic, such as CDP and VTP, is no longer working. The standard configuration is used for
each uplink. What is wrong with the configuration? 

A. The interface is administratively down. 

B. The encapsulation type is incorrect. 

C. The switchport mode trunk command should be first in the output. 

D. The native VLAN is not present on the trunk. 

E. The control traffic must be manually enabled on the new native VLAN. 

Correct Answer: D 

 

 

QUESTION 4

Your customer has asked you to come in and verify the operation of routers R1 and R2 which are configured to use
HSRP. They have questions about how these two devices will perform in the event of a device failure. 
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Refer to the exhibit. If router R1 interface Etherne0/0 goes down and recovers, which of the statement regarding HSRP
priority is true? 

A. The interface will have the priority decremented by 40 for HSRP group 1. 

B. The interface will have the priority decremented by 60 for HSRP group 1 

C. The interface will have its current priority incremented by 40 for HSRP group 1 

D. The interface will have its current priority incremented by 60 for HSRP group 1 

E. The interface will default to the a priority of 100 for HSRP group 1 

Correct Answer: C 
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QUESTION 5

What action should a network administrator take to enable VTP pruning on an entire management domain? 

A. Enable VTP pruning on any client switch in the domain. 

B. Enable VTP pruning on every switch in the domain. 

C. Enable VTP pruning on any switch in the management domain. 

D. Enable VTP pruning on a VTP server in the management domain. 

Correct Answer: D 
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